T390 F70h-QBBEREBR)BER (1) s

R,
Ly (1IX7nv%) SER (REBEAL FI00UA) Uhe
2 L3 & T2h (AABtY)
®H B RO | ME m OE
SEPCHL YRS v FEEAR FI00UA (T 11. 1) “ | RUIFLUBE
(ZEMRE2A D) VY h—RE
Efwovay $55.4 L=450 ES 1 S35CHEL S
7 ‘/7] _4%. TFH#wovay $55.4 L=280 ES 1 S35CHANSA
+ v L=94 H=45 & 1 $45C
Frh—TL—b 280x280x36, ¢ 65 w 1 $5400, FfsH > F
A byii——2 85 L=170 @ 1 RYTFLY
E O & 65 L=2400 ES 1 SESCHLE (XEHTF—8)
ABS R R—+H— 83 L=146 & 3 ABSHifBE
Foh—FvvT L=305 & 1 TIL S g%
B OED B 6% A 0. 89%g i 1 Joa— MR%S
TS99 REAAT $21.5 ES 1

HIFLE 4135

PO YR 6333
Txg 111

7 2 H—#4 (F100UA) B4

TUh—HER L
450 EEKE 1=2400 2 280

Yy ky—2R PC§lE U 333 XENTF—
ME $61.4 Txp 111
<}

= — R 1111 1 E

$55.4

Lz 3 39.7 x: 65.0
(S35CH8 24 &) R TF L oE) (S55CHA4 &)
F Foh—%vvF Foh—=—TL—*F R bvIR=y—2R ABSR R—4—
(5450) (7L = 855 (55400, FfidH > ) HyzFLY) (ABSHfiE)
8 45 25 280 36 85 170 $83 146

*vuIFyb

I%4 |RIEL B85 % REFZVA SHYRIF

% BRE% —REENS

©)
280
Fﬁ
|
Q
1685
=k

THEH LETRERZ VR

BEZ | 5597 K75h—(SEERHER
s% | @ |mEEz| s
st

EE 1] ERGARRRRIBHN<EE>



BHEEAIZZHR

BHBEAL(D19) s=1:5
(8%E)

(NO.5+3.9~N0.6+13.95)

559k * UHEREHR
D345 D19 (HDZT77)
%i=##=&§?##
2A—t—
02. 5mARIZEE |
L2(#IALR) HEkL | L0100
LM R)
(NO.6+10.0~NO. 8+12. 1)
s
ApEf
@75 L=0.30m
. *UERVES
D345 D19 (HDZT77) V=2
pacy PPN =
I IEH R
AR—H—
@2. 5mAR B E
L2(HIAR) WRAFE#LI1=300 L0=100
L@
AR—H— §=1:5 =2 §=1:5
oo 0
oy
s (3 = [ REE
121
7y ¥4 —(HDZT49) §1:5 fAES (HDITTT) 15 BHFryT s

150

E(le
Sl

4jt7 15

BHBAIBEDEMAR s=1:10
(5%H)

(NO.5+3.9~N0.6+13.95)

o
I$4 |WE: BES £ ABTIVR EHAATS
aRes —pEEes
THEF SETRETZ VA
RE% $HEAISAE
#R 2x  |mass| s
2118
$REG | BHRARRBRIBEHCEE>




